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Q1

Q2.
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A monoatomic gas is taken along path AB as shown. Calculate change in internal
energy of system ?

(cc) V4
250 |-
200 500 (kP3P
(@) 279.8 J (b) 341J
(c) 241 (d) None of these

Internal energy of ideal diatemic gas at 300 K-is 100 J. In this<100 J
(a) Potential energy =0

(b) Rotational kinetic energy = 40 J

(c) Translational-Kinetic.energy =60 J

(d) Translational kinetic energy = 100 J

Theaverage degrees of freedom per-maolecule for a gas is 6. The gas performs 25 J of
work/when it'expands at constant pressure.-The change in internal energy of gas is
(@)75J (b) 100 J

(c)-2501J (d) 125

One mole-of an-ideal gas whose pressure changes with volume as P = oV, where o is
a constant, is expanded so that its volume increases n times. Find change in internal
energy in terms of initial volume V and degree of freedom f?

(@) faVv?(n® — 1)/8 (b) faV?(n? — 1)/4

(c) faV?(n? —1)/2 (d) None of these

5 mole of O is heated at constant volume from 10°C to 20°C. What is the change in
its internal energy?

(a) 250 cal (b) 200 cal

(c) 100 cal (d) 400 cal

The internal energy U of the air in an open room is

(a) Higher in day (b) Higher in night
(c) Equal in day and night (d) None of the above

For an ideal gas,

Use code LIVE to get Maximum OFF on Unacademy PLUS / Iconic and learn from India’s Top Faculties


https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain
https://physicsaholics.com/home/courseDetails/60
https://youtu.be/jWXHJMdv-3k
https://physicsaholics.com/note/notesDetalis/78

Q8.

Qo.

Q 10.

Q11.

Q 12.

Physicsaholics

(a) the change in internal energy in a constant-pressure process from temperature T
to T2 is equal to nC, (T2 — Ta)

(b) the change in internal energy of the gas and the work done by the gas are equal
in magnitude in an isobaric process

(c) the internal energy does not change in an isothermal process

(d) Change in internal energy in isochoric process from temperature T1 to T is equal
to nC, (T2 — Ty).

Slope of internal energy vs temperature graph will be highest for
(@) 0, (b) H,
(c) NH; (d) He

Volume of a gas is decreased to half of its initial volume. Magnitude of change in
internal energy will be minimum in process

(a) Isobaric

(b) Isothermal

(c) Process having equation PV ~1 = constant

(d) Process having equation PV =2 = constant

Relation between U, P and V for ideal gas is U= 2+ 2PV then gas is
(a) Mono-atomic (b).Diatomic
(c) Poly-atomic (d), Miixture of mono and-diatomic

Pressure versus density-graph-of an ideal gas is shown in figure;
4

P ’
Cf

(a) during the process' DA wark done by the gas is positive

(b) during the process DA work done by the gas is negative

(c) during-the process BC Internal energy of the gas is increasing
(d) none of'the'above

One mole of an ideal monatomic gas (initial temperature To) is made to go through
the cycle abc a shown in the figure. If U denotes the internal energy, then choose the
correct alternatives :

P4
2P,,F----------------|r
A I la b

V, 2V, V

(a) Uc— Us = 10.5 RTo
(b) Up — Us = 4.5 RTo
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(C) Uc > Ub > Ua
(d) Uc — Uy = 6 RTo

Answer Key

Q1 d |Q.2 abc Q3 a Q4 c |Q5 a
Q6 ¢ |Q.7 acd Q8 ¢ Q9b |Q.l10d
Q.11 a |Q.12 ab,c,d
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